WDAS-FM Ord # 13060579460 WUSL FM Ord # 1306057950

NAB Form PB-18 Candidates

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

To Avail Window,	Themselves Federal Cand	Of The Lowe	est Unit Cha t Sign The C	rge During A ertification (A Political On Page 3
Station and WAS-F	d Location: M & WUS Wadelphu	L-FM 2, PA-		Date:	2.26.19
	nalf of: Allan Do	mb			
a legally qua	lified candidate	of the Democ	crat		
	y for the office				
in the Primar					
<u></u>	e held on: May	21, 2019			
	quest station ti		3:		
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
	A50	vdereo			

WDA5-FM-419,006 NET | WUSC-FM-412,988 NET Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed

NAB Form PB-18 Candidates

I represent that the payment for the above described broadcast time has been furnished by:

Allan Domb for Council, 1845 Walnut St, Suite 2200, Philadelphia, PA 19103

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is:

Daniel Fee, Treasurer

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

To Be Signed By Candidate or Authorized Committee

2-26-19		
Date	Signature	
To Be S	igned By Station Representative	
d Accepted	☐ Accepted in Part	☐ Rejected
Signature Signature	Shanna Saman Printed Name	France Sacrolest



Page 1 of 3

Contract/Code #:

Order No:

Printed: 02/25/2019 15:49:15

Allan Domb for City Council c/o Fairmount Media LLC

Attn:

PO BOX 15069

Philadelphia, PA 19130

Advertiser No: 116711 02/26/2019 Start Date: End Date: 03/06/2019 Month Type: Broadcast

Entered: 02/25/2019 03:35 PM by Fusion 02/25/2019 03:47 PM by sfriel Last Update:

Spl Req Inv: AE:

PHILADELPHIA, MMS

WDAS/02252019/LOCAL CANDIDATE/32632591 Note:

Ck #1127 \$13304.20 2/26 Note 2:

Co-op: No Package: No

CPE: ADCC - CAND - 02252019

1306057946

32632591

Revision #: Agency Comm.: 15%

Market Station	Bind To	Start Date	End Date	Of	On Air S W. D		Skip W.	M	т	w	т	F	s	s	Spots/ W. Copy Group	Spot Len.	Priority Revenue Typ	Rate	Ord. Spots	Ord. Cost
1 Philadelphia WDAS-FM	06:00-10:00 Commercial	02/26/19	03/01/19	1	1	0	0	0	4	4	4	3	0	0	15 975243 GR/ALLAN DOMB/60	60	75 National Agenc	285.00	15	4,275.00
2 Philadelphia WDAS-FM	06:00-10:00 Commercial	03/04/19	03/06/19	1	1	0	0	3	3	3	0	0	0	0	9 975243 GR/ALLAN DOMB/60	60	-	285.00	9	2,565.00
3 Philadelphia WDAS-FM	10:00-15:00 Commercial	02/26/19	03/01/19	1	1	0	0	0	4	4	4	3	0	0	15 975243 GR/ALLAN DOMB/60	60	•	310.00	15	4,650.00
4 Philadelphia WDAS-FM	10:00-15:00 Commercial	03/04/19	03/06/19	1	1	0	0	3	3	3	0	0	0	0	9 975243 GR/ALLAN DOMB/60	60	_	310.00	9	2,790.00
5 Philadelphia WDAS-FM	15:00-19:00 Commercial	02/26/19	03/01/19	1	1	0	0	0	4	4	4	3	0	0	15 975243 GR/ALLAN DOMB/60	60	75 National Agend	305.00 y-Political	15	4,575.00
6 Philadelphia WDAS-FM	15:00-19:00 Commercial	03/04/19	03/06/19	1	1	0	0	3	3	3	0	0	0	0	9 975243 GR/ALLAN DOMB/60	60	75 National Agend	305.00 y-Political	9	2,745.00
7 Philadelphia WDAS-FM	06:00-19:00 Commercial	03/02/19	03/02/19	1	1	0	0	0	0	0	0	0	4	0	4 975243 GR/ALLAN DOMB/60	60	65 National Agend	95.00 y-Political	4	380.00
8 Philadelphia WDAS-FM	06:00-19:00 Commercial	03/03/19	03/03/19	1	1	0	0	0	0	0	0	0	0	4	4 975243 GR/ALLAN DOMB/60	60	65 National Agend	95.00 y-Political	4	380.00

Page 2 of 3

Printed: 02/25/2019 15:49:15

Order No: 1306057946

No. of Spots/Misc/Digital: 80/0/0

Ordered Gross:

\$22,360.00 \$3,354.00

Agency Commission: Ordered Net:

\$19,006.00

Total Net Due:

\$19,006.00

	Mar	Apr	May	Jun	Jul	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
Amount Ord:	80	0	0	0	0	0	0	0	0	0	0	0	0
Gross:	22,360.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Net:	19,006.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00

Participating Customers Allan Domb for Clty Council

100%